
1 

Thank you for purchasing Happy Trails products.  Our products are proudly hand  made in Boise Idaho, 
USA.  If you have any questions or concerns about the installation of this product, please contact us  

directly at 1-800-444-8770 or e-mail installation@happy-trail.com. 

Before you begin, place the bike on a hard level surface where you have 
room to work.  Lay out the parts included in this kit and compare to the 
parts list on page 2 of these instructions.  If any parts or hardware are 
missing, contact us immediately at the number or email listed above.  

HTP0-0-4A clamp on highway peg 

Fig 1 

Fig 2 

Step 1 
 
Note: The black plate can be mounted using either 
vertical mounting slot, or even flipped horizontally to 
provide a range of foot peg locations on the bike. 
 
Begin by placing a 5/16” flat washer on two of the 
M865S bolts. Slide the bolts through the selected 
holes in the black mounting plate, and then through 
the non-slotted 1” frame clamp as shown in Fig 1.  

Step 2 
 
Select a location on the engine guard to mount the 
adjustable highway peg. Place the bolts, mounting 
plate and frame clamp, which were assembled during 
Step 1, onto the frame in your chosen mounting loca-
tion. Example location shown in Fig 2. 
 
 
 
 

Step 3  
 
Place the slotted frame clamp on the back side of the 
frame and on to the bolts of the assembly from step 2.   
 
 
 
 
 

Fig 3 

1 

2 



2 

Step 4 
 
Place an M8 Nyloc nut into the slots on the clamp 
and thread the M865S bolts into the nuts finger-
tight. See Fig. 4. Then align the plate parallel to the 
motorcycle, and shown in Fig. 2 above, and tighten 
the M865S bolts to 18 ft/lbs. 
 
 
 
 
 

Step 5 
 
Finally, bolt the removable passenger peg into the 
long slot at the front of the black mounting plate. 
Insert the M1225B bolt through the hole in the foot 
peg and then through the black mounting plate. 
Place a 7/16” flat washer on the bolt and thread an 
M12 Nyloc nut onto the bolt. Check to ensure that 
the foot peg hinges upward. 
 
Adjust the foot peg to a comfortable position and 
tighten all bolts down to 18 ft/lbs.  
 
Repeat steps 1-5 on both highway pegs.  
 

Fig 4 

Fig 5 

Recommended Tools: 
 
 -6mm Allen Wrench 
 -8mm Allen Wrench  
 -19mm Box End Wrench 

Hardware List: 
 
 -2 highway pegs  
 -2 powder coated    
 mounting plates 
  

 

 

 

HTP0-0-4A clamp on highway peg 

12/7/2021
Rev 5

JH



5/16” FW

Adjustable universal clamp on highway peg HTP0-0-4A

X4

            1” frame clamp X2

X2

M8N

X4
X2

            1” slotted frame clamp X2

12mm FW

X2

M12N
M1225

6/17/13
Rev 1
SH

M865S

X4




